GB/T 6445. 1—1996

00000 (www.freebznet)y DO OO O

Bl
AFRUE N GB 6445—86¢ ke i £ it Kk
NAEREIT,

il

SN RT3 ZE Wt AT AR s BAME S B2y
AHRHEAESERHOR H I B AR 1SO 6278 1980C IR HE IR B il sk —— MK RS,
AhrfE L GB 6445—86 AILL, 1: L2 Bl &AL S AR YE TB/T 2974—93CR il Ak A5 T 4 i 4b 78 K
FE DEAT TS M I T ek B (K 45 R R O T AT R R R Z I N AR R R AT IR AR HR R

RAT B ARSI RS R S8R T ¥ 7 BREUMAS
AbRAE B BB HE , [F I #2040 GB 6445—86,

ASHrfE iy A N BRI E AU Tl 4R
Ahr e 4 R B B A bR AL BOR TSI T H
A HE L B AL R AR
AP HER N RS

AFRAET 1986 4 15 KA o

00000 (www.freebznet) DODOD OOO0O



00000 (www.freebznet)y DO OO O

PREARLNEERFE

SRR REIEST K
GB/T 6445. 1— 1996
s e ROSF neq ISO 6278:1980

Rolling bearings
Needle roller bearings—Track rollers—

Boundary dimensions

1 el

ASKRUERIAE T 45 Bl 2 8 VR T i A Ry B il VR 8 TR A il AR (XA Q5 7B AN ROST 3 T4l
] ORH
2 SIHtRE

I HUBRUEI AL 10 2% 3 3 AE A bR AE R G AL O A RRAE K 2300 A BRAE R 1 Z1 AR v

INWRAS B AT e FTAT AR S B T 5 A P A bR UE 1K) 25 5 I DR TR B0 b HE S5 FBOAS (1 mT RE

3

4

4.1

GB 4199—84 ZwahHA AZEw X
HFEFNMERRIE

B R BUFT5 Ab s AR AE TSI BT 5 BUE £E GB 4199
B o A0 FEF A B P B R S 9

i B AT EAR

Bo i SRR B VR AL IR A PR 5
B2i§%ﬁé§ﬁ”ﬁ§,

By WRAR AR i) £ LS P-4 el iy ) %l ) e 2
G IFARIRELN A PR AT 5

O+ V424 Pl 180 5 A/ B i 7 2 T Pl 1 5
My ERR AR ) LA

M WEE P S i AL AR 5

7+ AN AR [ Al 1 {8 £ A FR R 5

Tsmin s BN — T

71+ P RELAR ) R 1] 420 11 A K RT3

Premn 271 (R /NR— ST

AR SRTE

AR Hy R B AT IR s Bl AR IS & 22 B M RO BB 7 P A S R ke
gif A4S

ERFTALEEE1996-12-18 it 1997-07-01 L5k

1

00000 (www.freebznet) DODOD OOO0O



00000 (www.freebznet)y DO OO O

AR AE R 1l 2 h 2 AR5 B 3
NATR Y. VR4 Bl VR 50 R BT Ak (] 1)
NATV B P4 [ R 50 i e v A k(B 2) 5
KR A 27 I8 SR R R B 4k (B 3) 5
KRV # 7 B8Rl R 50 T R R B Bl (B D
4.2 PiG 3Rl R
W 2 B R R SF o v
B2 ZH RS B 7 i K (NATRSNATV) H R 22 K HE TR 5
T R4 B Ll K (NATR,NATV ) I N #2 F AR 2 K 5k o5
1% 25 A BE R daly 70 2 K (KR GKVR) HI AR 22 K 5 T 5
& AH AR AR R Ak (KRLKRV ) FH AR R M il 428 22 K B0 0
4.3 JEERT
e BERS RHE X
A——FE 7 W5 R A LA A RTS8 A 7] o A AT R SR BE A W] B 5 BT D00 25 28 i 482 5
PP —— il 7 19 T 5 o QA T RS % 4 1) 5
X—— i 7 & P 03 18T Ay [5]A: 1h 5
SK —— iR MR AR A 2 v i AT S AL E AL
e WA R B AP B AN L LS B ARG R IR R, TSNS EAR T 3 L L 58 R T HER

4.4 Fri&onpl
1 Eshihk NATV 10 PP GB/T 6445.1—1996
o AR N AR 10 mm , P 42 i 0TGP ) 0 20 91~ e Pl e il e P T el K

%l 2 Eshihk KR 13 6 PPXSK GB/T 6445. 1—1996
BT AR ANE D 13 m Y T 7 42 fid R 1 ek el A7 el b S T Ay [ A T 5 B A A 3 R

A7 N1 LI H AR F A A R PR B TR B A K o

00000 (www.freebznet) DODOD OOO0O



00000 (www.freebznet)y DO OO O

(c) NATR:--PP (d) NATR---PPX

Kl1 NATR 7Y

00000 (www.freebznet) DODOD OOO0O



00000 (www.freebznet)y DO OO O

n

r ]
=N N
S AT 1 e\
________ SN I | e
C///{fff//gx{ e
7777
(@) NATV (b)) NATV---X
Y | T
I |
/
TIITIT T O P EIE,

5

i)

(¢) NATV-:-PP

| %//%75

(d) NATV--PPX

K 2 NATV I

00000 (www.freebznet) DODOD OOO0O



00000 (www.freebznet)y DO OO O

- — ™ —

1}
|Il' f

|
7
oy

fl
A
Ar

00000 (www.freebznet) DODOD OOO0O



00000 (www.freebznet)y DO OO O

)

- _.|_. -

__.:_I_____—r'l__

| —

Il Lol
|
T o

= I,
- --_\_nﬁ_-. -

”|.:.,

(c) KR---PP

(@) KR---PPX

5 3(58)

00000 (www.freebznet) DODOD OOO0O



00000 (www.freebznet)y DO OO O

_nl.ll.w_ vy m
—
T
i | m_
||!7: - _ _
! | . o
% N
= =
! |||_« ’ ,._ . ! /.f
13 P ﬂu/ﬂ
| S S
|
~z

(@) KRV

——

N NN .
NS

7 ! " ,ll.—f
R |

an A
“ o BN

-

n
Y

Y

1

.t i
Ar'i'______&_...

£

¥
_1___.4_‘!______'_’...

-

(®) KRV X

K 4 KRV %!

00000 (www.freebznet) DODOD OOO0O



00000 (www.freebznet)y DO OO O

T
\ i 1) ]
(c) KRV PP
!47_'
1 . B
[ i . M
TR
L G_f_-l} N
S et N I
Ao T
| it | o plakwhule s s s AN | IR
af sl otpgl—-—-—f @
I ﬁ_l__f,;_l|_____w—~—~-———“_.———4i__-“. !
;l.' o ] i
| .-'l __B;\\ | et

=
\'\.
O
N
EORRN
\\
I\"‘-\.
.,
N
S
N
- .

He

(@) KRV ++-PPX
K 4(58)
5 SMERST

5.1 PR RS R Bl K
5.1.1 BRARIIFRERRA R M AL RT3 T3 1,

00000 (www.freebznet) DODOD OOO0O



00000 (www.freebznet)y DO OO O

£1 TREE—RRS mm
MRS
d D C B Tsmin 7 1smin
NATR NATV Y
NATR 5 NATV 5 5 16 11 12 0.3 0.3
NATR 6 NATV 6 6 19 11 12 0.3 0.3
NATR 8 NATV 8 8 24 14 15 0.3 0.3
NATR 10 NATV 10 10 30 14 15 0. 6 0.3
NATR 12 NATV 12 12 32 14 15 0. 6 0.3
NATR 15 NATV 15 15 35 18 19 0. 6 0.3
NATR 17 NATV 17 17 40 20 21 1 0.3
NATR 20 NATV 20 20 47 24 25 1 0.3
NATR 25 NATV 25 25 52 24 25 1 0.3
NATR 30 NATYV 30 30 62 28 29 1 0.3
NATR 35 NATV 35 35 72 28 29 1 0.6
NATR 40 NATV 40 40 80 30 32 1 0.6
NATR 45 NATV 45 45 85 30 32 1 0.6
NATR 50 NATYV 50 50 90 30 32 1 0.6
NATR 55 NATV 55 55 100 34 36 1.5 0.6
NATR 60 NATV 60 60 110 34 36 1.5 0.6
NATR 65 NATV 65 65 120 40 42 1.5 0.6
NATR 70 NATV 70 70 125 40 42 1.5 0.6
NATR 75 NATV 75 75 130 40 42 1.5 0.6
NATR 80 NATYV 80 80 140 46 48 2 1
NATR 85 NATV 85 85 150 46 48 2 1
NATR 90 NATV 90 90 160 52 54 2 1
NATR 95 NATV 95 95 170 52 54 2 1
NATR 100 NATYV 100 100 180 63 65 2 1.5
NATR 110 NATV 110 110 200 63 65 2 1.5
NATR 120 NATV 120 120 215 63 65 2 1.5
5.1.2 FHRIFRREIREIRH AL RS 5T 2,
® 2 CPREM—E RS mm
MRS
d D c B - Plsmin
NATR # NATV #!
NATR 10 32 | NATV 10 32 10 32 17 18 0.6 0.3
NATR 12 37 | NATV 12 37 12 37 20 21 1 0.3
NATR 15 42 | NATV 15 42 15 42 22 24 1 0.3
NATR 17 47 | NATV 17 47 17 47 25 27 1 0.3
NATR 20 58 | NATV 20 58 20 58 32 34 1 0.3

00000 (www.freebznet) DODOD OOO0O



00000 (www.freebznet)y DO OO O

* 2058 mm
AT
d D c B - Plsmin
NATR # NATV #!
NATR 25 72 | NATV 25 72 25 72 38 40 1 0.3
NATR 30 85 NATYV 30 85 30 85 46 48 1.5 0.3
NATR 35 100 | NATV 35 100 35 100 54 56 1.5 0.6
NATR 40 110 | NATV 40 110 40 110 61 63 2 0.6
NATR 45 125 | NATV 45 125 45 125 69 71 2 0.6
NATR 50 140 | NATV 50 140 50 140 76 80 2.5 0.6
NATR 60 160 | NATV 60 160 60 160 86 90 2.5 0.6
NATR 70 190 | NATV 70 190 70 190 99 103 2.5 0.6
NATR 80 210 | NATV 80 210 80 210 111 115 2.5
NATR 90 240 | NATV 90 240 90 240 128 132 3
5.2 A IRERRRIVR B IR BRI K
5.2.1 BRI IEMRAIR R HASNE R8T 3 3,
* 3 BRM—RRY mm
AT
D | d | C | By | By | Bs el Gi | M | My | O Temin
KR ! KRV %Y
KR 13 KRV 13 13| 5 9 | 23| 13| — M5%0.8 7 | 4| — 0.5 0.3
KR 16 KRV 16 16| 6 | 11 | 28| 16 | — M6X1 8 | 42| — | 0.6 0.3
KR 16 AV KRV 16 AP | 16 | 6 | 11 | 28 | 16 | — M6 8 | 4| — |0.6 0.3
KR 19 KRV 19 19| 8 | 11| 32| 20 | — | M8X1.25 10 | 42 | — | 0.6 0.3
KR 19 AV KRV 19AP | 19 | 8 | 11 | 32 | 20 | — M8 10 | 42 | — | 0.6 0.3
KR 22 KRV 22 22 110 | 12 | 36 | 23 | — | M10X1.25 | 12 | 42 | — | 0.6 0.3
KR 22 AV KRV 22 AP | 22 | 10 | 12 | 36 | 23 | — M10X1 12 | 42 | — | 0.6 0.3
KR 26 KRV 26 26 | 10 | 12 | 36 | 23 | — | M10X1.25 | 12 | 42 | — | 0.6 0.3
KR 26 AV KRV 26 AP | 26 | 10 | 12 | 36 | 23 | — M10X1 12 | 42 | — | 0.6 0.3
KR 30 KRV 30 30| 12| 14 | 40 | 25 | 6 M12X1.5 13| 6 | 3 |0.6 0.6
KR 32 KRV 32 32 | 12 | 14 | 40 | 25 6 M12X1.5 13 6 3 /0.6 0.6
KR 35 KRV 35 35| 16 | 18 | 52 |32.5| 8 M16X1.5 17| 6 | 3 |0.8 0.6
KR 40 KRV 40 40 | 18 | 20 | 58 |36.5| 8 M18X1.5 19| 6| 3|08 1
KR 47 KRV 47 47 | 20 | 24 | 66 |40.5| 9 M20X1.5 21 8 4 10.8 1
KR 52 KRV 52 52 | 20 | 24 | 66 |40.5| 9 M20X1.5 21| 8 | 4 |0.8 1
KR 62 KRV 62 62 | 24 | 29 | 80 |49.5| 11 | M24X1.5 25| 8 | 4 |0.8 1
KR 72 KRV 72 72 | 24 | 29 | 80 |49.5| 11 | M24X1.5 25| 8 | 4 |0.8 1
KR 80 KRV 80 80 | 30 | 35 | 100 | 63 | 15 M30X1.5 32 8 4 1
KR 85 KRV 85 85 | 30 | 35 | 100 | 63 | 15 | M30X1.5 32| 8| 4 1
KR 90 KRV 90 90 | 30 | 35 | 100 | 63 | 15 M30X1.5 32 8 4 1

1) % HURS Hl K (8 55 ISO 62781980 Fr i s (MR BE A ]
2) LA AE IR A R i i

5.2.2 HARIIHIRKHIR IR EH RSN G AT 51T 4,

10

00000 (www.freebznet) DODOD OOO0O




00000 (www.freebznet)y DO OO O

x4 BERM—ERY mm
MRS
D d, ¢ | B | By | Bs el Gi | ¢ Tomin
KR KRV #!
KR 13 6 KRV 13 6 13 6 9 25 | 15 | — M6X1 8 | 05| 0.3
KR 16 8 KRV 16 8 16 8 11 | 31 | 19 | — M8X1.25 10 | 0.5 | 0.3
KR 19 10 KRV 19 10 19 | 10| 11 | 34 | 22 | — | M10X1.25 | 12 | 0.5 | 0.3
KR 24 12 KRV 24 12 24 | 12 | 14 | 41 | 26 | — M12X1.5 14 | 0.5 0.3
KR 32 14 KRV 32 14 32 | 14 | 17 | 48 | 30 7 M14X1.5 16 | 0.5 | 0.6
KR 37 16 KRV 37 16 37 | 16 | 20 | 56 | 35 8 M16X1.5 18 | 0.5 1
KR 42 20 KRV 42 20 42 | 20 | 22 | 65 | 41 | 10 M20X1.5 21 1 1
KR 47 24 KRV 47 24 47 | 24 | 25 | 75 | 48 | 11 M24X1.5 25 1 1
KR 58 30 KRV 58 30 58 | 30 | 32 | 93 | 59 | 14 M30X1.5 30 1 1
KR 72 36 KRV 72 36 72 | 36 | 38 | 116 | 76 | 17 M36X3 41 1 1
KR 85 42 KRV 85 42 85 | 42 | 46 | 135 | 87 | 20 M42X3 46 1 1.5
KR 100 48 KRV 100 48 | 100 | 48 | 54 | 156 | 100 | 23 MA8X3 53 1 1.5
KR 110 56 KRV 110 56 | 110 | 56 | 61 | 178 | 115 | — Mb56X4 61 1 2
KR 125 64 KRV 125 64 | 125 | 64 | 69 | 200 | 129 | — M64X 4 68 1 2
KR 140 72 KRV 140 72 | 140 | 72 | 76 | 222 | 143 | — M72X4 73 2 2.5
KR 160 80 KRV 160 80 | 160 | 80 | 86 | 246 | 157 | — M80X 4 80 2 2.5
KR 190 80 KRV 190 80 | 190 | 80 | 99 | 262 | 160 | — M80X 4 80 2 2.5
KR 210 90 KRV 210 90 | 210 | 90 | 111 | 292 | 178 | — M90X 4 88 2 2.5
KR 240 100 | KRV 240 100 | 240 | 100 | 128 | 328 | 197 | — M100X 4 96 2 3
s RV ISR AR A ML M R My NAFE G Bk R RS .

00000 (www.freebznet) DODOD OOO0O



